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CAPITALSTRUCTURE

LEARNING OBJECTIVES

I, Say what is capital structure.
Know the optimum capital structure.
Discuss number of factors that determine a firm's capital structure.

Know the meaning and types of leverages in business.

L

Calculate financial leverage and its impacton EPS.

Meaning of Capital Structure

Capital structure is that part of financial structure, which represents long-term sources.
The term capilal structure is generally defined to include onty long-term debt and total
stockholder investment. The term capital structure refers to the mix of long-term
sources of funds, such as equity shares capital, reserves and surpluses, debenture,
long-term debt from outside sources and preference share capital. To quote Bogen.
"Capiltal structure may consists of a single class of stock, or it may be complicated by
several issues of bonds and preferred stock, the characteristics of which may vary
considerably". In other words, capital structure refers to the composition of capitalisation,
i.e., to the proportion between debt and equity that make up capitalisation. Capital
structure indicated by the following equation.

Capita] Structure = Long-term Debt + Preferred Stock + Net worth
or
Capital Structure = Total Assets - Current Liabilities

Thus, the capital structure of a firm consists of the shareholder ' funds and debt. The
inherent financial stability of an enterprise and nsk of insolvency to which it is exposed,
are primarily dependent on the source of its funds as well as the type of assets it holds
and relative magnitude of such asset categories.

Features of an Appropriate Capital Structure

Construction of optimum capital structure is very important for a finm, since the firm’s
value is depending on the capital structure. Hence, financial manager or the concerned
person should develop an appropriate capital structure, which is helpful to maximise
shareholders wealth. This can be done onfy when all those factors, which are relevant
to the company s capital structure decision, are properly analysed and balanced. Capital
structure should be planned generally keeping in view the interest of ordinary
shareholders because they are the ultimate owners of a business enterprise and have
the right to select the directors. However, the interest of the other groups, such as,
employees, customers, creditors, society and government should also receive
reasonable consideration. There is no tailor-made capital structure for all business

























































4.  The method enables a firm to choose an investment which yields a quick return Capital Budgeting
on cash funds.

5. 1t is easy to understand, calculate and communicate to others.

6. Other than its simplicity, the main advantage claimed for the payback method s,
that it is a built-in safeguard against risk.

7. It enables a firm to determine the period required to recover the original
investment with some percentage return and thus, arriving at the degree of risk
associated with the investment.

Demerits:

1. It does not measure the proﬁtability of a project.

2. The time value of money is ignored.

3. It does not value projects of different economic lives,
4

Itis orly a rule-of-thumb method. It is ofien difficult to judge objectively whether
one proposed project is superior to another and, if so, by how much.

5. No allowance is made for taxation nor is any capital allowance made.
(b} Accounting Rate of Return/Average Rate of Return (ARR)

Accounting rate of return method uses accounting information as revealed by financial
statements, to measure the profitability of the investment proposals. [t is also known
as the return on investment (RO1). Some times it is known as Average Rate of Return
(ARR). Average annual earnings after depreciation and taxes are used to calculate
ARR. It is measured in terms of percentage. ARR can be calculated in two ways.

(i) Whenever it is clearly mentioned as accounting rate of return: 1f accounting
rate of return is given in the problem, return on original investment method should
be used to calculate accounting rate of return.

Average annua] EAT or PAT N
Original investment (OQ) *

100

Accounting Rate of Return (ARR) =

*0Ol = Original investment + Additional NWC + Installation Charges +
Transportation Charge

(iiy Whenever it is clearly mentioned as average rate of return: 1f Average rate
of return is given in the [llustration, return on average investment method should
be used to calculate average rate of return.

Average annual EAT g
Average investment (A} *

Accounting Rate of Return=

* Al = (Original investment — scrap)1/2 + Additional NWC + Scrap value

(i) If ARR is given in the problem, any one of the above method can be used to
calculate ARR (preferably return on average investrent method).

Accept-Reject Rule: Acceptance or rejection of the project is based on Lhe comparison
of calculated ARR with the predetermined rate or cut of rate.

Accept: Cal ARR > Predetermined ARR or Cut-off rate
Reject: Cal ARR < Predetermined ARR or Cut-off rate

Considered: Cal ARR = Predetermined ARR or Cut-off rate 43
























Computation of Present Value

Cash Flows (Rs.) I Discounting Factor 10 % ] Present Value (in Rs,)
1,000 1.00 1,000
2,000 0.467+ 9134 !

Rs. 1,000 today is more valuable than Rs. 2,000 due after 8 years because the value
of Rs. 2,000 after 8 years is only Rs. 934.

*Note: See TABLE A-3 The Present Value of One Rupee for PV of one rupee at 10
per cent discounting factor, because the cash inflow occurs only in one point of time.

Hlustration 14: A new machine costs Rs. 20,000, requires no increased investment
in working capital and is expected to yield Rs. 6,000 profit per year for 10 years, at
which time its scrap value will be negligible. Assume straight-line depreciation and a
30 per cent tax rate.

If management requires at least a 10 per cent return on any new investment, would
this investment qualify? At a rate of return what is the present value per rupee of
investments.

Solution:
Calculation of CFAT
Rs.

EBDT 6,000
Less: Depreciation 2
EBT 4,000
Less: Taxes 30 %
EAT 2,800
Add: Depreciation 2,000
CFAT 4,800

f
=

(2,000+10)

fo
=

Computation of NPV

Year Cash Flows (in Rs.} D F 10% PV’s (in Rs.}

1t 10 4,800 6.145* 29,496

1

Present Value of cash inflaws 29,496
Less: Cash outflows 20,000

Net Present Value (NPY) 9,496

*Note: See TABLE A-4 The Present Value of Annuity One Rupee for PV of one rupee at 10 per
cent discounting fagtor, because the cash inflows occurs evenly for a peried of 10 years.

PV per rupee of investment =Total present vahue cash inflows +Total investment

= Rs. 29,496 + 20,000 = Rs. 1.47

Capital Budgeting
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Merits of IRR:

1. IRR attempts to find the maximum rate of interest at which funds invested in the
project could be repaid out of the cash inflows arising from that project.

2. It considers the time value of money,
3. It considers cash flows thought out the life of the project.

4. It is not in conflict with the concept of maximizing the welfare of the equity
shareholders.

5. Itis calculated by the method of trial and error, usually it gives more psychological
satisfaction to the user.

6. Itisconsistent with the objective of shareholders; wealth maximization.
Demerits of TRR:
1. Calculation of IRR is quite tedious and it is difficult to understand.

2. Both NPV and IRR assume that the cash inflows can be reinvested at the
discounting rate in the new project. However, reinvestment of funds at the cut-
off rate is more appropriate than at the IRR. Hence, NPV method is more
reliable than TRR to ranking two or more projects.

3. It implies that profits can be reinvested at internal rate of return, which is not
logical.

4. 1t produces multiple rate of returns which can be confusing.

5. Itdoes not help in the evaluation of mutually exclusive projects, since a project
with highest IRR would be selected. However, in practice, it may not turn out to
be the one, that is the most profitable and consistent with the objective of
shareholders i.e. wealth maximization.

6. It may pot give fruitful results in case of unequal projects life, unequal cash
outflows, and difference in the timing of cash flows.

7. It may give resulis inconsistent with NPV method. This is especially true in case
of mutually exclusive projecis, 1.e., projects where acceptance of one would
result in the rejection of the other. Such conflict of results arises due to the
following.

i.  Differences in cash outlays

ii. ~ Unequal lives of projects

iii.  Different pattern of cash flows.
Compare and Contrast ‘NPV’ with ‘IRR’:

NPV and IRR are the discounted cash flow methods available for evaluation of capital
budgeting projects. These are similar in certain respects. In certain sifuations, they
would give same (accept or reject) decision. But they differ in the sense, that the
results regarding the choice of assets are under certain circumslances mutually
contradictory. The comparison of these methods is therefore, involves a discussion of
(a) Similarities between the methods, and (b) Differences.

NPV with IRR: Similarities:
®  The rwo methods use cash inflows after tax (CFAT). .

¢ Both the methods take into consideration the time value of money.
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Practice Yourself (Solved Problems)

1. What is the present value of Rs. 10,000 at the end of second year at a discount
rate of 10 per cent?

Solution;
PV of Rs. 10,000 at the end of second year = 10,000x0.826 = Rs. 8,260

2. What is the present value of Rs. 40,000 due, three years hence at a discount
rate of 10 per cent?

Solution:
PV of Rs. 40,000 at the end of three years = 40,000x0.751 = Rs. 30,040

3. What is the present value of Rs. 30,000 due, three years hence at a discount of
10 per cent?

Solution:

Formula for calculation of discount factor =[1 +1+1]n
Discounti Factor at 10 per cent=[1 + 1+0.10)3 = 0.751
Present Value of Rs. 30,000 = Rs.30, 000 x0.751 = Rs. 22,53

Summary

Capital budgeting is the firm’s decision to invest its current funds most efficiently in
the long-term assets in anticipation of an expected flow of benefits over a series of
years.

Capital budgeting decisions are important since growth of the firm depends on
fixed assets, it is a more risky decision as huge investments are involved, an
ireversible decision, it has effect on other projects too, a and difficult decision
(became the decision is based on future years cash inflows, and involves uncertainty
of future and hence more risk). Capital budgeting decisions are very important, but
they pose difficulties, which shoot form three principle sources: measurement
problem, uncertainty, and temporal spread.

The process of Capital budgeting may be divided into six broad phases/steps. They
are: (1) planning or idea generation, (2) evaluation / analysis, (3) selection, (4)
financing, (5) executio/implementation, and (6) performance review.

Pay back period is that period required to recover the original cash outflow invested
in a project. It can be calculated in two ways, First, using formula and the second,
cumulative cash flow method.

ARR is very simple to calculate, information can easily be drawn frown accounting
records, it takes into account all profits of the projects life period, cost involvement
in calculating pay back period js very less, However, it suffers from some
disadvantages: it uses accounting profits, instead of actual cash flows after taxes,
it ignores the concept of time value of money, it does not allow the fact that the
profits can be reinvested, it does not differentiate between the size of the investment
required for each project, it is incompatible with the objective of wealth maximization.

Discounted cash flow techniques take into consideration almost all the deficiencies
of the traditional methods. Net Present Value (NPVY) is the present value benefits
minus present value of costs. Symbolically:

Contd...
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Historic Cost/Book Cost: The book cost has its origin in the accounting system
in which book values, as maintained by the books ofaccounts, are readily available.
They are related to the past. It is in common use for computation of cost of
capital. For example, cost of capital may be computed based on the book value
of the components of capital structure. Historical costs act as guide for future
cost estimation.

Future Cost: It is the cost of capital that is expected to raise funds to finance a
capital budget or investment proposal.

Specific Cost: 1t is the cost associated with particular component/source of
capital. It 1s also known as component cost of capital. For example, cost of
equity (Ke) or cost of preference share (Kp), or cost of debt {(Kd), etc.

Spot Cost: The costs that are prevailing in the market at a certain time. For
example, few years back cost of bank loans (house loans) was around 12 per
cent, now it is 6 per cent. 6 per cent is the spot cost,

Opportunity Cost: The opportunity cost is the benefit that the shareholder
foregoes by not putting his/her funds elsewhere because they have been retained
by the management. For example, an investor, had invested in a company’s
equity shares (100 shares, each share at Rs. 10). The company decided to
declare dividend of 10 per cent on book value of share, hut due to capital
requirements it retains its investment on one project that is having retum on
investment {(ROI) of 4 per cent. Elsewhere, the project rate of interest {banks)
is at 6 per cent. Here, the opportunity cost to the investor is (6- 4) 2 per cent.

Explicit Cost: Cost of capilal can be either explicit or implicit, Distinction between
explicit and implicit is important from the point of view of computation cost of
capital. An explicit cost of any source of capital is the discount rate that equates
the present value of the cash inflows, that are incremental to the taking of the
financing opportunity with present value of its increments cash outflows. In
other words, the discount rate that equates the present value of cash inflows
with present value of cash outflows. It is also called as the internal rate of retum.
For examiple, a firm raises Rs. 1,00,000 through the sale of 12 per cent perpetual
debentures. There will be a cash inflow of Rs. 1,00,000 and a cash outflow of
Rs. 12,000 every year for a indefinite period. The rate that equates the PV of
cash inflows (Rs. 1,00,000} and PV of cash outflows (Rs. 12,000 per year)
would be the explicit cost. Computation of explicit cost is almost similar to the
compulation of IRR, with one difference.

Implicit Cost: 1t is the cost of opportunity, which is given up in order to pursue

a particular action. It is also known as implicit cost of capital. The implicit cost

of capital of funds raised and invested hy the firm may, therefore be defined as

“the rate of return associated with the best investment opportunity for the firm

and its shareholders that would be foregone, if the projects presently under

consideration by the firm were accepted. The cost of retained eamnings is an

opportunity cost of implicit cost for a shareholder, who s deprived of the

opportunity to invest retained eamnings elsewhere. Funds raised by any form of
financing have implicit capital costs once they are invested. Thus, in a sense,

explicit costs may also be viewed as opportunity costs. This implies that a project
reflects negative PV, when its cash flows are discounted by the explicit cost of
capilal.
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Cost of Irredeemable Preference Share/Perpetual Preference Share

The share that cannot be paid till the liquidation of the company is known as irredeemable
preference share. The cost is measured by the following formula:

K, (without tax) = m%r_l\ﬁ
Where,

l(p = Cost of preference share.

D = Dividend per share.

CMP = Market price per share.

NP = Net proceeds.

Cost of imedeemable preference stock (with dividend tax)

D(1+Dt)

K ith t . Sl S
p (With ) = o e NP

Where,
Dt = tax on preference dividend

Hiustration 5: HHC Ltd,, issues |2 per cent perpetual preference shares of face
value of Rs. 200 each. Compute cost of preference share (without tax).

Solution:
KP =—D—x100
NP
24
K,=—x100 =
P= 500 12 per cent

Hlustration 6: (with dividend tax): A company is planning to issue 14 per cent
imedeemable preference share at the face value of Rs. 250 per share, with an estimated
flotation cost of 5%. What is the cost of preference share with 10% dividend tax.

Solution:

K x100

_ D(1+Dt)
P NP

_35(1+0.10)

%100 =14.737 per cent
237.5

Tlustration 7: Sai Ram & Co. is planning to issue 14 per cent perpetual preference
shares, with face value of Rs. 100 each. Floatation costs are estimated at 4 per cent
on sales price. Compute (a) cost of preference shares if they are issued at (i) face /
par value, (ii) 10 per cent premium, and (iii) 5 per cent discount, {b) compute cost of
preference share in these situation assuming 5 per cent dividend.


http:35(1+0.10
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Summary

Cost of capital may be viewed in different ways: (i) From investors’ view point
- the measurement of the sacrifice made by him with regard to capital formation,
(11} Firms view point — it is the minimum reguired rate of returns needed to justify
the use of capital, and (iii) Capital expenditure paint-it is the minimum required rate
of return used to value cash flows.

Cost of capital 1s the weight average cost of various sources of finance used by the
firm. 1t comprises the risk less cost of the particular type of financing (r)), the
business risk premium, (b) and the financial risk premium (f). Symbolically (K} =
r+b+f

J

The cost of capital is useful in designing optimal capital structure, investment
evaluation, and financial performance appraisal.

Computation of Cost of capital/of WACC involves five steps: (1) Determination

of the type of funds to be raised and their individual share in the total capitalisation

of the firm, (2) Computation of the cost of each type of funds, (3) Assigning weights
to specific costs, (4) Multiplying the cost of the source by the (appropriate) assigned
weights, and (5) Dividing the total weighted cost by the total weights to get over ail
cost of capital.

Test Yourself

What is cost of capital ?

—

Explicit v§ Implicit Cost.

Define marginal cost of capital.

How is cost of perpetual debt computed ?

What is retained earnings ?

How is the cost of retained earnings computed ?

What is the relevance of cost of capital in capital budgeting decisions?

Distinguish between WACC and MCC.

A -

“Marginal cost of capital nothing but the average cost of capital”, explain.

o

The basic formula to calculate the cost of equity is D/P + g. Explain its rationale.

pa—y
—_—

How is cost of debt calculated?

._.
e

How is cost of preference share calculaied 7

—
ol

What are the steps involved in calculating a firm’s WACC?

=

Explain the problems faced in determining the WACC 7 How is it relevant to
capital budgeting decisions ?

b

WACC (K ) may be determined using book value and market value weights.
Compare the pros and cons of using market value weights rather than book
value weights in calculating K .


































Advantages/Merits of Equity Shares \ Sources of Working Capital

The advantages of equity shares can be discussed from the point of view of company
and investors.

(a) Advantages/Merits to Company:
% It is permanent long-teom source of finance.
#»  There is no repayment liability.
% Itdoes not create any obligation to pay dividend.

< This capital can be issued without creating any charge over assets of the
company..

#+  Issue of equity share capilal increases the credit worthiness of the company.
(b) Advantages/Merits to Investors:
%  Equity share provides more income (residual income).

+  Equity shares gives right to participate in the control and management of
the company,

<  Capital appreciation (if share price increased when compared purchase
price),
Disadvantages/Demerits of Equity Shares

The advantages of equity shares can be discussed from the point of view of company
and investors.

(a) Disadvantages/Demerits 1o Company:
<  High cost source of fund.
%  Involves high flotation costs.
%  Issue of additional shares dilutes control.
&  No tax advantage (dividends are not tax deductible).
< It make capital structure rigid.
(b} Disadvantages/Demerits to Investors:
<+  No guarantee, and regularity in receipt of dividend.
<  No guarantee in receipt of principle amount of investment.

¢  Loss of capital due to fluctuations in share prices.

Summary

Estimation of working capital required is completed, then the next step ts financing
of working capital. Statement of working capital gives clear picture about the
components, (raw materials, work-in-process, finished geods and receivables) and
required investment in these components of working capital. Financing of current
assets is the responsibility of finance manager who may require spending lot of
time for raising finance.

Working capital should be financed by suitable and optimal mix of short-term source
of funds and long-term source of funds.

Contd... o1



Financiul Management Sources of short-term financing funds are: trade credit, accruals, differed incomes,
Commercial Papers (CPs}, Public Deposits (PDs), Inter Corporate Deposits (1CDs),
and cemumercial banks.

Net working capital should be financed by long-term sources of finance. The
sources of long-term working capital are: retained earnings, 1ssue of shares (ordinary
or equity shares and preference shares), debentures, public deposits, loan from
financial institutions, Life Insurance Corporation of India (LICT), General Insurance
Corporation (GIC), Unit Trust of India (UTI), State Financial Corporations {(SFC's),
Industrial Development Bank of India (IDBI), etc.

Test Yourself

1. "Is Trade Credit source of working capital finance"?. Discuss.
"Acciruals are a free source of finance”, comument.

Write a brief note on CP as a source of finance.

What is public deposit? Discuss its advantages and disadvantages.
Discuss the types of ICD's.

Write a brief note on L/C.

Briefy discuss the sources of short-term working capital.

o =~ S bh A W R

Discuss in detail the sources of long-term working capital.
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such as cash, short ierm securities, accounts receivables and inventones” The concept
helps in making optimum investment in current assets and their financing. According
to Walker, “Use of this concept is helpful in providing for the current amount of
working capital at the right time so that the firm is able to realise the preatest return on
investment”. The supporters of this concept like Mead, Field, and Baker and Malott ,
argue that the management 1s very much concemed with the total current assets as
they constitute the total funds available for operating process.

Significance

Gross Working Capital Concept focuses anention on the two aspects of current assets
management, they are:

(i) Optimum Invesiment in Current Assets: Investment in current assets must
be just adequate to the needs of the firm. In other words, current assets investment
should not be inadequate or excessive. Inadequate working capital can disturb
production and can also threaten the solvency of the firm, if it fails to meet its
current obligations. On the other hand, excessive investment in current assets
should be avoided, since it impairs the firm’s profitability.

(iiy Financing of Current Assets: Need tor working capital arise due to the
increasing level of business activity. Therefore, there is a need to provide/
arrange it quickly, Similarly, some times surplus funds may arise, thus they should
be invested in short-term securities. They should not be kept as idle.

Net Working Capital Concept

As per this concept, the excess of current assets over current liabilities represents net
working capital. Similar view is expressed by Guthmann and Dougall, Gerstenberg,
Goel, Park and Gladson, Kennedy and MecMulien,and Myer in their distinguished works.
*Accounts Hand Book’ has also fully supported this view. The famous cconomists
like, Sailer Lincoln, and Stevens, fully suppoerted this concept and viewed that the net
working capital helps creditors and investors to judge the {inancial soundness of a
{irm.

Net Working Capital Concept represents the amount of the current assets, which
would remain after all the current liabilities were paid. It may be either positive or
negative. It will be positive, if current assets exceed the current liabilities and negative,
if the current liabiljties are in excess of current assets. Another alternative definition
is that net working capital refers to that portion of firm’s current assets, which {inanced
with long-term funds.

Net Working Capital Concept indicates or measures the liquidity and also suggesis
the extent to which working capital needs may be financed by the permanent source
of funds. To quote Roy Chowdary, *Net Working Capital indicates the liquidity of the
business whilst gross working capital denotes the quantum of working capital with
which business has to operate”.

Significunce

Net Working Capital Concept focuses attention on the two aspects of current assets
management, they are: i) Maintaining liquidity position, and i1} To decide upon the
extent of long-term capital in financing current assets.

i)  Maintaining Liguidity Position: For mainiaining liquidity position there is a
need to maintain current assets sufficiently in excess of current liabilities. In



other words, excess current assets helps in meeting its financial obligation within
the operating cycle of the firm. Generally for every one rupee of current asset
there will be one rupee of current liability. As discussed above, negative and
excess working capital both are bad to the firm.

u) To decide upon the Extent of Long-term Capital in Financing Current
Assets: Net Working Capital (NWC) means the portion of current assets that
should be financed by long—term {unds. This concept helps to decide the extent
ol long-term funds required in finance current assets. For example, if there are
Rs. 1.00,000 current assets and Rs. 75,000 current liabilities, the extent of current
assets should be decided by the NWC base. The NW is the difference between
current assets and cwrrent liabilities. In the above example NWC is Rs. 25,000,
This is the amount that is supposed to be financed by long—term funds. Hence,
NWC helps managementi to decide the extent to which current assets should be
financed with equity capital and borrowed funds.

Kinds of Working Capital

The categonization of working capital can be made either based on its concept or the
need to maintain current assets either permanently and/or temporarily. As per
conceptual view, it may be classified into gross working capital or net working
cupital, which were already explained in detail

Gerstenberg has convenientiy classified the working capital intoreguiar or permanent
working capital and temporary or variable working capital. The variable working
capital is again bifurcated into seasonal and special working capital. See
Figure 1.

1' Kinds of Working Capiial
: 1
I Concept Ba:.e__l | Timie Base -
L T
1 |
o R
Gross Working Networking Permanent or Temporary or
Capital or Capital or Regular Working, Variable Working
Quantitative Qualitative Capital Capitai
|

Figure |

Permanent Working Capital

Permanent working capital is the minimum investment kept in the form of inventory
of raw materials, work-in-process, finished goods, stores & spares, and book debts to
facilitate uninterrupted operation in a firm. Though this investment is stable 1n shon
run, it certainly varies in long run depcnding upon the expansion programmes
undertaken by a firm. [t may increase or decrease over a period of time. The minimum
tevel of current assets maintained in a firm is usually known as permanent or regular
working capital.

Working Capital Managemen
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Temporary Working Capital

A firm is required to maintain an additional cwrent assets temporarily over and above
permanent working capital to satisfy cyclical demands. Any additional working capital
apart from permanent working capital required to support the changing production
and sales activities is referred to as temporary or variable working capital, In other
words, an amount over and above the permanent level of working capital is temporary,
fluctuating or vanable working capital. At times, additional working capital is required
to meet the unforeseen events like floods, strikes, fire, and price bike tendencies and
contingencies.

Distinction Between Permanent and Temporary Working
Capital

The difference between permanent and temporary working capital can be shown in
Figure 2 and 3.

The above figure depicts the permanent or regular working capital that is stable over
a period, where as temporary or variable working capttal is oscillating, or showing ups
and down — some times working capital requirement has increased or decreased. The
above figure 2 will hold good to those firms, where there is no development and have
seasonal or cyclic fluctuations.

But for the growing firms figure 3 will be suitable,
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requirement and vice versa. Manufacturing firms have large production cycle,

so they require high working capital, but in the case of short production cycle

firms require less working capital. Working capital requirements can be reduced
with the help of certain policy steps, like terms of credit for raw materials and

the suppliers. Unless the sequences of production process leading to conversion
into finished goods are kept under close observation to achieve better production
and productivity, more and more working capital funds will be tied up. In this

context, it should be noted that production planning and control are vital.

Production Policy: Production policy means whether, it is continuous or seasonal
demand for products. What kind of production policy should be followed in above
cases? There are two options to such companies, either they confine their

production only to periods when goods are purchased or they follow a steady

production policy throughout the year and produce goods at a level to meet peak
demand. Suppose in the case where, production and sales goes simultaneously,

the amount of working capital required is less {(example is FMCG goods business),
but the sales will be only seasonal and production will take place throughout the
year thus continuously the amount of working capital required is very high.

(Umbrella business}).

Credit Policy or Terms of Purchase and Sales: The credit policy relating to
sales and purchases also affects the working capital. If a2 company purchases
raw materials in cash and sells goods on credit, it will require larger amount of
working capital. On the contrary, a concern having credit facilities for the purchase
of raw materials and allowing no credit to its customers, will require lesser
amount of working capital,

Business Cycle: The amount of working capital requirements of a firm varies
with every movement of business cycle. The variations in business conditions
may be in two directions () Upward phase — when boom conditions prevail, in
this case more working capital is required to cover the lag between the increased
sales and receipt of cash as well as to finance purchase of additional matenal.
{b) Downswing phase — in this case, the need for working capital will be very
less, since there is no growth in sales.

Growth and Expansion: As company grows, it 1s logical to expect that a larger
amount of working capital in required. It is very difficult to determine the
relationship between the growth in the volume of business of a company and
increase in its working capital required. Other things being equal, growth industries
require more working capital than those the static, The critical fact, however is
that the need for increased working capital funds does not follow the growth in
business activities but proceeds it. Advance planning of working capital is
therefore, a continuing necessity for a growing concern, or else, the company
may have substantial earnings but little cash.

Scarce Availability of Raw Materials: The availability of certain raw materials
on a continuous basis without interruption would sometimes affect the working
capital requirement. There may be some materials, which cannot be procured
casily either because of either their sources are few or they are irregular.
Therefore, the firm might be compelied to purchase more than required to manage
smooth production. [n this case, the amount of working capital required is large.
In olher case, the availability of raw materials are easy and there is no fluctuations
thus the amount of working capital required is less.



10.

1.

12.

13.

14.

15.

16.

Profit Level: Firms may differ in their capacity to generate profit from business.
Some firms enjoy a dominant position, due to quality product or good marketing
management or monopoly power in the market and eamn a high profit margin.
Other firms may earn low profits. The net profit is a source of working capital to
the extent that it has been earned in cash. A high net profit margin contributes
towards the working capital pool. A firm with high profit level requires less
working capital apd vice versa.

Level of Taxes: The net profit is calculated after deduction of tax. The amount
of taxes 1o be paid is determined by the tax authorities. So the management has
no discretion in this respect. Hence, companies very often pay taxes in advance
on the basis of the profit of the previous year. Therefore, tax is an importiant
aspect of working capital planning. If tax liability increases, it leads to an increase
in the requirement of working capital and vice versa. So tax planning can,
therefore, be said to be an integral part of working capital planning.

Dividend Policy: Dividend has a bearing on working capital, since it is
appropriation profits. The payment of dividend reduces cash resources and
thereby, affects working capital to that extent. Conversely, if the firm does not
pay dividends but retains profits, the working capital increases. In other words,
declaration of dividends leads to more working capital requirement and vice
versa.

Depreciation Policy: 1t is also exerts an influence on the guantum of working
capilal required. IDepreciation charge is out of pocket cost. The affect of
depreciation policy on working capital is indirect. More depreciation provisions
reduce the amount of required working capital and vice versa.

Price Level Changes: Increasing prices necessitate the use of more funds for
managing an existing leve] of activity. In the same leve] of current assets, higher
cash outlays are required. The effect of raising prices is that a higher the amount
of working capital is required. However, in the case of companies, which can
raise their prices proportionately, there is no serious problem regarding working
capital required. Moreover, the price rise does not have a uniform effect on all
commodities. The effects of raising price levels will be different for different
tirms depending upon their pricing policies, nature of the product etc.

Operating Efficiency: The operating efficiency of the firm relates to the optimum
utilisation of resources at minimum costs. Efficiency of operations accelerates

the pace of cash cycle and involves the workinp capital tumover. In this case

the amount of working capital needed is less since it releases pressure by improving
profitability and improving the intermal generation of funds.

Availabitity of Credit: The need for working capital in a firm will be less, if it
avails liberal credit facilities. Similarly, the availability of credit from banks also
influences the working capita! needs of the firm, A firm enjoying bank credit
facilities can secure funds to finance its working capital requirement very easily,
whenever it requires. It can therefore, perform its business activities with less
working capital than a firm without such credit facility.

Other Factors: In addition to the above factors, there are a number of other
factors, which affect the requirement of working capital. Some of them are:
close co-ordination between production and distribution policies, an absence of
specialization in the distribution of products, the means of transportation and

Working Capital Management
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Symbols used in the tormulas:

BP = Budgeted Production (in units)
RMC = Raw Materials Cost per unit
ARM HP = Avg. Raw Materials Holding Period
- EWIP = Estimated Work-in-Process cost per unit

ATSWIP = Avg. Time Span of Work-in-Process inventory

CGP

= Cost of Goods Produced {excluding depreciation) per unit

FGHP = Finished Goods Holding Period

BCS
CS

= Budgeted Credit Sales in units

= Cost of Sales (excluding depreciation) per unit

ADCP = Avg. Debt Collection Pertod
CPAS  =(Credit Period Allowed by Suppliers
DWC = Direct Wages Cost per unit

LPW
OHC

= Lag in Payment of Wages

= Overhead Cost per unit of production

LPOH = Lagin Payment of Overheads

Estimation of components of current assets and current liabilities:

1. Estimation of Current? Assets:

a)

b)

<)

d)

€)

Investment in Raw Materials Inventory: BP (in units) «x RMC per unit
x ARM HP (months/days) = [2 months/365 days.

Investment in Work-in-process Inventory: Work-in-process cost (permit)
is proportionate share of the cost of direct materials and conversion costs.

Conversion costs include labor and manufacturing overheads costs excluding
depreciation, since it is out of pocket cost. Generally, raw materials cost is
fully considered, if there is no information about the raw materials
requirement. With regards to the share of labor and overhead cost, it is

based on the work completion stage. For example if the work is completed
to the extent of 50 per cent then only 50 per cent labour cost and overhead

cost is taken into consideration for estimation of work-in-process cost. If
there is no information about the completion stage then the option is left
out to the estimation of working capital (it is better to consider that work
completion stage is 50 per cent).

BP (in units} x EWIP per unit x ATSWIP (months/days) = 12 months/
365 days

Investment in Finished Goods Inventory: BP (in units) = CGS per unitx
FGHP (months/days) + 12 months/365 days

Invesiment in Debtors: BCS (in units) x CS per unit x ADRDCP (months/
days)+ 12 months/365 days

Cash and Bank Balance: Maintenance of minimum working capital
includes a minimum cash balance, but it is very difficult to calculate minimum

Working Capital Management
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cash balance required. Generally determination of minimum cash balance
would be based on the motives for holding cash of business firm, attitude
of management towards risk, accessibihity of the firm to the sources of
finance, when needed and past experience etc. Generally in examinations
the minimum cash balance will be provided

Estimation of Current Liabilities:

a)  Trade Debtors: BP (in units) x RMC per unit production x CPAS (months/
days) + 12 months /365 days.

b)  Direct Wages: BP (in units) x DWC per unit x LPW (months/ days)
= 12 months / 365 days.

¢}  Overheads: BP (in units) x OHC per unit of production x LPOH (months/
days) = [2 months / 365 days.

{ltustration 1: From the following information of VSGR Company Ltd,, estimate the
working capital needed to finance a level of activity of 1,10,000 units of production
after adding a 10 per cent safety contingency.

Amount {per unit)

Raw materials 78
Direct labour 29
Overheads (excluding depreciation) 58
Total cost 165
Profit 24
Selling price 189

Additienal information:

Average raw materials in stock: One month

Averapge materials-in-process (50 per cent completion stage): Half a month
Average finished goods in stock: One month

Creditallowed by suppliers: One menth

Credit altowed to customers: two months

Time lag in payment ol wages: One and half weeks

Overhead expenses: one month

One fourth of the sales is on cash basis. Cash balance is expected to be Rs.
2,15,000. You may assume that productien is carried on evenly throughout the
year and wages and overhead expenses accrue similarly.
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Estimation of Working Capital Needed

Particulars Amount Amount
{Rs) (Rs)
A, Estimation of Current Assets:
i) Raw malerials inveritory: One month:  (1,10,000 x 78 x 4/52) £,60,000
i) Work-in-pracess inventory: Half a month
Raw materiats (1,10,000 x 78 x 2/52) = 3,30,000
Oirect labour {1,10,000 x 14.5 x 2/52) =61,346.15
Overheads  (1,10,000 x 29 x 2/52) =1,22,692.1 5,14,038.46
i} Finished goads inventary: One month: (1,10,000x165x4/52) 13,96,153.85
iv) Debtors: Two months, (82,500 x 165 x 8/52) 20,94,230.77
v). Cash batance required 2,15,000
“Total Current Assets 48,79,423.08
B. Estimation of Current Asssts:
i) Creditors: One month: (1,10,000 x 78 x 4/52) 6,60,000
ii) Expenses:
Overheads (1,10,000 x 58 x4/52) =4,90,769.23
Labour {1,10,000 x 26 x 3/104) = 9201923 12,42,788.46
Total Current Liabilities |19,02.788.46
C. Working Capital{A-B) 29.76,663.62
Add: 10% Contingency 2,97,663.46
D. Working Capital Required ] 32,74,327.08
Summary

Working capital management is concerned with the problemns that arise in atternpting
to manage the current assets, current liabilities and their inter-relationship that exists|
between them.

Working capital management goal is maintain a satisfactory tevel of working capital.

Net working capital concept focuses attention on the two aspects of current assets
management, they are: Maintaining liquidity position, and to decide upon the extent
of long-term capital in financing current assets.

Working capital has conveniently classified the working capital into two: regular or
permanent and temporary or variable working capital. Permanent working capital
refers to the minimum leve! of current assets maintained in 3 firm. Temporary
working capital refers to additional current assets temporarily over and above
permanent working capital to satisfy cyclical demands.

The objectives of working capital management could be stated as, to ensure optimum
tnvestment in current assets, to strike a balance between the twin objectives of

liquidity and profitability in the use of funds, to ensure adequate flow of funds for

current operations, and to speed up the flow of funds or to minimize the stagnation

of funds.

The dangerous excessive working capital are: unnecessary accumulation of
inventories, indication of defective credit policy and stack collection period,
degeneration in 10 managerial inefficiency, and speculative profits grow.

The dangers of inadequate working capital are: stagnates growth, difficult to
implement operating plans, difficult even to meet day-to-day commitments, inefficient
utilisation of fixed assets, unable to avail aitractive credit opportunities, firm loses
1ts reputation.

Werking Capital Management
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fa—

What is working capital?

What do you mean by gross working capital?

What do you understand by net working capital?

Distinguish between permanent working capital and variable working capital.
What is working capital management?

Distinguish between permanent working capital and variable working capital.
Give a note on different types of working capital.

QOutline the dangers of inadequate working capital.

b 2 e e = s S &

Narrate the dangers of excess working capital,

e

“Working capital must be adequate but at the same time not excessive”. Comment.

—
—_—

Give a note regarding the factors determining working capital needs of a business
firm.

[2. Discuss the steps involved in estimation of working capilal needed by a firm.

13, What is working capilal management? What is the need to maintain optimum
working capital? Discuss the consequences of inadequate and excess working
capital,
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CASH MANAGEMENT

LEARNING OBJECTIVES

. Discuss the objectives of cash management.

2. Explain the factors determining cash needs,

3. Explain cash budget, procedure and pwpase of cash budget.
4. Discuss steps involved in preparing cash budget.

5. Know the strategies for accelerating cash inflows.

6. Understand Money market Instruments.

Objectives of Cash Management

One of the prime responsibilities of the financial manager is that managing cash to

make balance between profitability and liquidity. In other words, he/she has to maintain
optimum cash balance. Optimum cash means it should not be excess or inadequate.

Maintenance of excess cash reserve to meet the challenges, the excess cash will

remain idle, and idle cash eam nothing, but involves cost. So it will reduce profit. On
the other hand, having inadequate cash balance will affect the liquidity of the firm,

Hence, there is need to maintain balance between profitability and liquidity. In other

words, there should not be excess cash or inadequate cash.

From the above, we can trace the following as the objectives of cash management:
I)  To meet cash payment needs, and
2} To maintain minimum cash balance.

1} To Meet Cash Payments: The prime objective of cash management is to meet
various cash payments needed to pay in business operations. The payments are
like payment to supplier of raw materials, payment of wages and salaries, payment
of electricity bills, telephone bills and so on. Firm should maintain cash balances
to meet the payments, otherwise it will not be able to run business. To quote
Bollen, "Cash is an oil to lubricate the ever-turning wheels of business: without
it, the process grinds to a stop". Hence, one of the cash management objective
is to meet the payments with the maintenance of sufficient cash,

2) To Maintain Minimum Cash Balance (Reserve); This is second important
objective of cash management. It means the firm should not maintain excess
cash balances. Excess cash balance may ensure prompt payment, but if the
excess balance will remain idle, as cash is a non-earning asset and the firm will
have to forego profits. On the other hand, maintenance of low level of cash
balance, may not help to pay the obligations. Hence, the aim of cash management
i5 to maintain optimum cash balance.
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Factors Determining Cash Needs

From the above, we can say that a firm has to decide the cash balance based on their
needs, which is determined after taking inte consideration of the following factors.

1y

2)

3)

4)

Synchronisation of Cash Flows: Synchronisation of cash flows arises only
when there 1s no balance between the expected cash inflows and cash outfiows.
There is no need to manage cash balance, if there is perfect match between
cash inflows and cash outflows. Otherwise, there is a need to manage cash
balance for managing synchronisation. This synchronisation is forecasted through
the preparation of cash budget for a period of 12 months or the planning period.
A well-prepared cash budget will definitely point out the months or periods when
the firm will have surplus or deficit cash.

Short Costs: This is another factor to be considered while detenmining the cash
needs. Short costs are those costs that arise with a short fall of cash for the firm
requirements. Shortage of cash can be found through preparation of cash budget.
Cash shortage is not cost free, it involves cost whether it is expected or unexpected
shortage. The expenses incurred as a result of shortfall are called short costs.
They include the following:

+  Cost of Transaction: Whenever there is a shortage of cash it should be
financed. Financing may be done through the borrowings from banks or
sale of marketable securities (if the firm have). If the firm is planning to
finance the deficit cash by sale of marketable securities, then the fim is
expected to spend some expenses for brokerage.

L7
e

Cost af Borrowing: 1f the {imm does not have marketable securities with
it, then it prefers borrowing as a source of financing, shortage of cash. It
involves costs like interest on Joan, commitment charges and other expenses
relating to the loan.

<+  Cost of Deterioration of the Credit Rating: Generally credit rating is
given by credit rating agencies (CRISIL, ICRA and CARE). Low credit
rating firms may have to go for bank loans with high interest charges,
since they cannot raise the required amount from the public. Low credit
rating may also leads to the stoppage of supplies, demands for cash payment
refusal to sell, loss of image and attendant decline in sales and profits.

%  Cost of Loss of Cash Discount: Sufficient cash helps to get cash discount
benefits, but shortage of cash cannot help to obtain cash discounts.

+  Cost of Penalty Rates: Whenever there is shortage of cash firm may not
be able to honor currently returned obligations, which in tum demand
penalty.

Surplus Cash Balance Cosis: 1t is self-explanatory. It means that the cost
associated with excess or surplus cash balance. Cash is not an earning asset.
Surplus cash funds are idle, an impact of idle cash is that the firm losses
opportunities to invest those funds and thereby ltose interest, which would
otherwise have been earmed.

Management Costs: Management costs are those costs involved with setting
up and operating cash management staff. These cost are generally fixed overa
period, and are mainly include staff, salary, storage, handling cost of secunty
and so on.



CaSh Blldget Cash Mapagement

Cash budget is an important tool for the flow of cash in any firm over a future period
of time. In other words, it is a statement showing the estimated cash inflows and cash
outflows over a pianning period. It pinpoints the surplus or deficit cash ofa firmas it
moves from one period to another period. The surplus of deficit data helps the financial
manager to determine the future cash needs of the firm, plan for the financing of
those needs and exercise control over the cash and liquidity of the firm. Cash budget
is also known as short-term cash forecasting,

Purpose of Cash Budget

Cash budget has proved to be of great help and benefit in the following areas:
®  Estimating cash requirements

®  Planning short-term finance planning

®  Scheduling payments, in respect of acquiring capital goods

e  Planning and phasing the purchase of raw materials

®  Evolving and implementing credit podicies

®  Checking and verifying the accuracy of long-term cash forecasting.

Preparation of Cash Budget or Elements of Cash Budget

The above benefit areas clear that the main aim of preparing cash budget is to predict

the cash flows over a given period of time and to determine whether at any point of
time there 1s likely to be surplus or deficit of cash. Preparation of cash budget involves
the following steps:

Step 1 - Selection of period of time (planning horizon): Planning horizon is that

period for which cash budget is prepared. There are no fixed rules for cash budget

preparation. Planning horizon of a cash budget may differ from firm to firm, depending
upon the size of the firm. Cash budget peried should not be too short or too long, If
it is too short many important events may come out in the planning period and cannot

be accounted for the preparation of cash budget, which becomes expensive. On the

other hand, if it is too long the estimates will be inaccurate. Then how to determine

planning horizon? It is determined on the basis of situation and the necessity of a

particular case. A firm whose business is affected by seasonal variations may prepare
monthly cash budgets . If the cash flow fluciuates, daily or weekly cash budgets

should be prepared. Longer period cash budgets may be prepared when the cash

flows are stable in nature,

Step 2 - Selection of factor that has bearing on cash flows: The factors that
generate cash flows are divided into two broad categories. (a) Operating, and (b)
Financial.

®  Operating Cash Flows: Operaling cash inflows are cash sales, collection of
accounts receivables and disposal of fixed assets and the operating cash outflows
are bills payables, purchase of raw materials, wages, factory expenses,
administrative expenses, maintenance expenses and purchase of fixed assets.

®  Financial Cash Flows: Loans and borrowings, salc of securities, dividend
received, refund of tax, rent received, interest received and issue of new shares
and debentures cash outflows are redemption of loan, repurchase of shares,
income ax payments, interest paid and dividend paid. 107
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will have the control on collection of receipts and cash disbursements. As the objectives
of cash management is to accelerate cash receipts as much as possible and decelerate
or delay cash payments as much as possible. In other words, the various collection
and disbursement methods can be employed to improve cash management efficiently
constitutes two sides of the same coin. Both collections and disbursements exercise
a joint impact on the overall efficiency of cash management. The idea is that speed
collection of accounts receivables so that the firm can use money sooner. otherwise,
it has to bomrow money, wherein costs are involved. Conversely, firm wants to pay
accounts payables late without affecting credit standing with suppliers, so that firm
can make use of the meney it already has. Hence, for efficient cash management
firm has (A) to collect accounts receivables as early as possible, and (B) it has to
delay the accounts payables without affecting credit standing.

Accelerating Cash Collections

Accelerating speedy cash collection can conserve cash and reduce its requirements
for cash balances of a firm. Cash inflow process can be accelerated through systematic
planning. The following are the methods of accelerating cash collections:

1)  Prompt Payment of Customers: In speed collection, the first hurdle could be
the firm itself. It may take a long time to process the invoice. Prompt payment
by customers will be possible by prompt billing. The seller has to inform to
customers about the amount of payment and period of payment in advance.
Automation of billing and enclosure of self-addressed enveloped, will be helpful
for speed payment of cash. The other way of prompting customers to pay
earlier is to offer cash discount. Cash discount helps customer to save money
and they would readily avail discounts.

2)  Early Conversion of Payments into Cash: After using cheques by customer
in favour of the fimm collections can be quickened. Conversion of cheques into
cash is the second hurdle. There is a time lag between the time a cheque is
prepared by customer and the time the funds are credited to firmn's account. It
is also known as cash cycle. Cash cycle is the time required to convert the raw
matenials into cash. There are three steps involved in the cash cycle, viz., (i)
Mailing time—The time taken by the post otfices in transferring the cheques
from the customer to the firm. The time lag is referred to as "postal float”. (i1}
Lethargy - time taken in processing the cheques within the company and sending
them to bank for deposit and {iii) Bank Float - Collection within the bank or the
time taken by the bank in collecting the payment from the customer’s bank. The
postal float, lethargy and bank float-collectively known as "deposit float”. To
quote Rama Moorihy, deposit float as the sum of cheques written hy the customer
that are not yet usable hy the firm. In India deposit float can assume sizeable
opportunities as cheques normally take a longer time to get realised than in most
countries. Accelerated collection of cash is possible when a firm reduces the
transit, lethargy and hank float. '

How can the deposit float be reduced?

It is possible through the options of decentralised collection policy. There are
two important methods available 1o use in a decentralised collection network,
they are concentration banking and Lock-Box system.

3} Concentration Banking or Decentralised Collections: A firm operating its
business spread over a vast area and its branches located at different places



4)

would do well to decentralise its collections. The decentralised collection
procedure in US is called as "concentration banking.” Concentration banking is
a system of operating through a number of collection centers, instead of a single
collection centre centralised at the company's head otfice premises. Under this
system, a firm will have a large number of bank accounts in the operated areas,
but all the areas may not have collection centres. Opening it collection centre
depends on the volume of business. In this system, the customers' are instructed
to send their payments to the collection centre covering the area under which
they come and these are deposited in the local account of the concerned collection
centre. On realisation of the proceeds of the cheques, these may be remitted
for credit to the Head Office Account, by way of telegraphic transfer, daily or

weekly, as per the quantum of collections and the local requirements of funds

for expenses. Hence, concentration banking reduces float, which saves time
and reduces in the operating cash needs. This system should be adopted only
when the savings are higher than the cost.

Lock-Box System: This is another technigue of accelerating collection of cash.
It is more popular in USA and European countries. Under this arangement, a
firm rents a post office hox and authorises its bank to pick up remittances in the
box. The boxes will be placed at different centres on the basis of number of
consumers, Customers are hilled with instructions to mail remitiances to the
box. The local authorised bank of the firm, at the respective places pick up the
mail several times a day and the same deposits into the firm's account. After
the collection of cheques the bank, send a deposit slip along with the list of
payments and other required encloses.

Advantages of Lock-box system are:
(a) The bank handles the remittances prior to deposit at a lower cost;

{(b) The process of collection through the banking system begins sooner the
receipt of cheque and saves time.

{¢) Lock-box system involves cost, since the services provided by the bank
are chargeable or requires to maintain 2 minimum cash balance that involves
an opportunity cost. A financial manager has to compare the benefits
derived from use of lock-box system and when benefits are higher than
the cost involved then it should be adopted.

Slowing Down Cash Payments

Operating cash requirement can be reduced by acceierating cash collections and
stowing down cash payments. Increased availability of casb depends on the
combination of speed collections and slow payments. Following methods can be used
to showing down the payments.

Paying on Last Date: A prudent businessman would always prefer to make
the payment only on the last day, when it is due and never earlier. But early
payments entitles a firm to cash discounts. Ifthere is no discount offer on early
paymenis of accounts payables has no advantage, but delayed beyond trade
credit period affects the firms credit standing that makes difficult to get trade
credit in future, Hence, a firm would be well advised to pay payments only on
the last dates,

Centralised Payments: Under this system, all payments are made from one
central place that is Head Office. The benefits of centralised payment system
are:

Cash Management
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It increases the transit time. In other words, payment from a centralised place
takes more time to send the cheques to customers.

Reduction in operating cash requirement since the firm has centralised bank
account, a relatively smaller total cash balance will be needed.

Controlled schedules and payments made exactly on the last day.

®  Paying the Float: Float is the amount of money tied up in cheques that have
been written, but have yet to be collected. In simple words, float refers to the
ditference between the balance in {irms cash book (bank column) and balance
in passbook of the bank. There is a time lag between issue of cheque by the
company and its presentation to the bank by the customer's bank for collection
of money, where cash is required later when the cheque is presented for
collection. S, firm can issue cheque without having sufficient cash in its bank
account at the time of its issue to its customers, because by the time of
presentation of the Cheque for encashment, {irm can arrange funds. Use of
float in this way referred to as cheque kiting. Cheque kiting can be done in two
ways—{a) paying from a distant bank and (b) cheque encashment analysis.

a} Paying From a Distant Bank: As discussed in centralised payments.

b}  Cheque Encashment .\nalysis: On the basis of {irm's past experience (if
firm has been paying from a few years onward), it can find out the lag in
the issue of cheques and their encashment. If more time lag is there then
the firm will pay with delay and vice versa. It will help the firm to save
cash.

Computation of Optimum Cash Balance

A firm has to maintain sufficient liquidity by managing minimum cash balance. Firm
needed cash to pay suppliers of raw materials, pay salaries and other expenses as
well as paying interest, tax and dividends. Sufficient liquidity means the availability of
cash to pay the firm obligations in time. Generally, the minimurmn cash balance is equal
to the cash needed for transaction plus safety cash that can be maintained based on
firm's past experience. Maintenance of cash balance provides sufficient liquidity but
involve opportunity cost {loss of interest), whereas less cash balance maintenance
weakens liquidity and involves profitability. A firm has to maintain optimum cash
balance. Optimal cash balance is that cash balance where the firm's opportunity cost
equals to transaction cost and the total cost are minimum. Then how to determine
optimum cash balance?

Optimum cash balance can be determined by a number of mathematical models. But
here the most important two models are discussed. They are:

Baumol Model (Inventory Model)
Miller—Orr Model {Statistical Model)

Baumol Model

This mode] was developed by Baumol. This model is suitable only when the cost flows
are predictable (under certainty). Jt considers optimum cash balance similar to the
economic order quantity, since it is based on EOQ Concept and also in both the cases
there is trade off between cost of borrowing (sale of securitics cost) and
opportunity the cost. The point where the total cost is minimum. Figure 1 shows
Baumol model.
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Where,
ECL = Economic Conversion Lot; F=Expected cash needed for future period
C = Cost per conversion; O = Opportunity cost

Hlustration 3: VS Intemational Coy Ltd., estimated cash needs of Rs. 20 lakhs for a
year. Cost of transaction of marketable securities is Rs. 2000 per lot. The company
has marketable securities in lot sizes of Rs. 1,00,000, Rs. 2.00,000, Rs. 4,00.000,
Rs. 5,00.000 and Rs. 10,00,000. Determine economic conversion lot size if 20% is the
opportunity cost.

Solution:

]
ECL - \/2)4 2000 = 20,00,000 — Rs.2,00,000

0.20

Miller and Orr Model

The Miller and Orr model is in fact an attempt to make Baumol model more elastic
with regards to the pattern of periodic changes in cash balances. Baumol's model is
based on the assumption that uniform and certain level of cash balances. But in
practice firms do not use uniform cash balances nor are they able to predict daily cash
inflows and outflows. The Miller Orr Model overcomes the limitations of Baumol
model. It's augmented on the Baumo! Model and came out of a statistical model. That
is useful for the firms with uncertain cash flows. The Miller and O model provides
two control limits—the upper control limit and the lower control limit along with a
return point. Figure 2 shows the two control limits and retumn point.

A

Upper Control Lim# (IJCL)

<f/\[/\ /_(| lPurchase of securities
jr 1 |

— Return point (Ri%}

Sale of securities

Cash (Rs.)

-

| i ower Control Limit (LCLI
Time j

Figure 2

According to this model, cash balance fluctuates between LCL and UCL. Whenever,
cash balance touches UCL then the firm purchases sufficient (LICL - RP) marketable
securities 1o take bank cash balance to return point. On the other hand when the firm
touches the lower control limit, it will sell the marketable securities to the extent of
(RP - LCL), take back cash balance 1o return point.

The cash balance at the lower controt limit (LCL) is set by the firm as per requirement
of maintaining minimum cash balance. The cash balances at upper control limit (UCL)
and record points will be determined on the basis of the transaction cost (C), the

interest rate (O) and standard deviation (s) of net cash flows.

The following formula is used to determine the spread between UCL and LCL {called
Z) are MO model
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ensure that the bill is trade bill and not accommodation bill, try to go for bills
backed by letters of credit rather than open bills as the former are more secure.

Summary

Cash is one of the components of current assets and it is a medium of exchange for
purposc of goods and services and for discharging liabilitics.

In cash management, the term 'cash’ has used in two senses: Marrow sense and

Broad sensc. In narrow sense, cash covers currcncy and generally accepted

equivalents of cash, viz., cheques, demand drafts and banks demand deposits. Broad
Sense, cash includes not only the above stated but also near cash assets. There

arc bank's time deposits and marketable securities. The markctable security can

easily sold and converted into cash. Here cash management is in broader sense.

Cash budgcet is a statement showing the cstimated cash inflows and cash outflows

over a planning period. It pinpoints the surplus or deficit cash of a firm as it moves
from one period to another peried. Cash budget is prepared for the purpose of
estimating cash requirements; Planning short-term finance planning; Scheduling

payments, in respect of acquiring capital goods; Planning and phasing the purchase
of raw materials; Evolving and implementing credit policies; Checking and verifying
the accuracy of long-term cash forecasting. Prcparation of cash budget involves

two steps: (1) Selection of period of timc (planning horizon). Planning horizon is

that period for which cash budget is prepared. (2) Scleetion of factor that has

bearing on cash flows.

Morney market refers to the market for shori-term securities. The most prominent
short-term securities available for investment of surplus cash are: Units of Unit
1964 Scheme, Ready Forward (RPs or repos), Treasury Bills, Commercial Papers
(CPs), Certificate of Deposit (CDs}, Banker's Acceptance, Intcr-Corporate Deposits
(ICDs), Badla Financing, and Bills Discounting.

Test Yourself

—_—

What is cash management?

Name the objectives of cash management.

How do you determine (Baumol) economic conversion lot size?
Give the meaning of repos.

What is commercial paper (CP)?

What is certificate of deposits (CD)?

What is cash budget?

List out the objectives of preparing cash budget,

What is float? |

What is deposit float?

W M R N

=

Briefly discuss the elements of cash budget.

—
~J

4

What is lock box system? How does it help to reducc the cash balances?

—
[N

Discuss the important features of the Miller and Orr model.

._.
F

Efficient cash management will aim at maxmizing the cash inflows and slowing
cash outflows". Discuss.



15. Briefly discuss the various avenues or opportunities availablie to the companies
to park their surplus funds for a short-term.

i6.

Write short notes on:

(a)
(b)
(c)
(d)
(e)
H
{g)

US 64 scheme

ICD's

CD's

Discounting of (time) bilis, and
Commercial Papers (CPs)
Badla Financing, and

Treasury Bills (TBs)

Cash Management
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RECEIVABLES MANAGEMENT

LEARNING OBJECTIVES

1. Say whal are accounts receivables and their characteristics.
Define accounts receivables management,
Define credit policy and types of credit policies.

Discuss the aspects of receivables management.

ok

Explain Monitoring Receivable.

Meaning and Characteristics

Meaning

The term receivable is defined as "debt owed to the firm by customers arising from
sale of goods or services in the ordinary course of business", When the firm sells its
products services on credit, and it does not receive cash for it immediately, but would
be collected in near future. Till collection they form as a current assets.

Characteristics
The accounts receivables ansing out of credit sales have the following characteristics'.

t.  Risk Involvement: Receivables involve risk, since payment takes Bajaj in future,
and future is uncertain so they should carefully analyzed.

2.  Based on Economic Value: Accounts receivables are based on economic value.
The economic value in goods or services passes to the buyer currently in return
the seller expects an equivalent value from the buyer latter.

3. Implies Futurity: Buyer will make cash payment of the goods or services
received by him/her in a future period. [i.e., generally after credit period)

Meaning of Accounts Receivables Management

Accounts Receivable Management means making decisions relating to the investment
in these current assets as an integral part of operating process, the objective being
maximization of return on investment in receivables. In other words, accounts
receivables management involves maintenance of receivables of optimurmn level, the
degree of credit sales to be made, and the debtors collection. In simple words, the key
function of credit management is to optimize the sales at the minimum possible cost of
credit. According to Joseph, "The purpose of any commercial enterprise is the earning
of profit, Credit in itself is utitized 1o increase sales, but sales must return a profit".
The offer of goods on credit should not enly optimise sales but also lead to maximization
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Advantages of Liberal Credit Policy

®  Increase in Sales: Lenient credit policy expands sales because of the hberal
credit terms and favorable incentives granted to customers.

®  Higher Profits: Increase in sales leads to increase in profits, because higher
level of production and sales reduces permit cost.

Disadvantages of Lenient credit policy
Apart from the advantages it has some disadvantages:

®  Rad Debt Loss: A firm that follows lenient credit policy may suffer from bad
debt losses that anse due to the non-payment credit sales.

e Liguidity Problem: Lenient credit policy not only increases bad debt losses but
also creates liquidity problem, because when the firm is not able to receive the
payment at a due date, it may became difficult to pay currently maturing
obligations.

Stringent Credit Policy

Stringent credit policy seller sells goods on credit on a highly selective basis onlyi.e.,
the customers who have proven creditworthiness and financially sound.

Advantages of Stringent Credit Policy

®  Less Bad Losses: A firm that adopts stningent credit policy will have minimum
bad debt losses, because it had granted credit only the customers who are
creditworthy.

®  Sound Liquidity Position: The firm that follows stringent credit policy will
have sound liquidity position, due to the receipt of all payments from customers
on due date, the firm can easily pay the currently maturing obligations,

Disadvantages of Stringent Credit Policy

®  Less Sales: Stringent credit policy restricts sales, because it is not extending
credit to average creditworthiness customers.

®  Less Praofits: Less sales automatically reduces profits, because firm may not be
able to produce goods economically, and it may not be able to use resources
efficiently that leads increase in production cost per unit.

In fact, firms follow credit policy that lies between lenient and stringent credit policy.
In other words, Lthey follow optimum credit policy. Optimum credit policy involves a
balance between costs and benefits. The major considerations in costs are liquidity
and opportunity costs. The optimum credit policy occurs at point where there is a
trade off between liquidity and profitability. Therefore, the management has to strike
a balance between easy credit to promote sales and profit and tight credit to improve
liquidity. The important vanables of credit policy should be identified before establishing
an optimum credit policy.

Credit Policy Variables

As we have seen in the credit policy that majority of firms follow a credit policy that
lies between stringent and lenient, that is optimum credit policy. Optimum credit policy
is one, which maximizes firm's operating profit, For establishing optimum credit policy,



the financial manager must consider the important decision variables, which have
bearing on the level of receivables. In other words, the credit policy variables have
bearing on level of sales, bad debt loss, discounts taken by customers, and the collection
expenses. The major credit policy variable include the following:

(a) Credit Standards, (b) Credit Terms, and {c) Collection Policy and Procedures.

Credit Standards

Firm has to select some customers for extension of credit. For this firm has to evaluate
the customer. In evaluation of customers what standards should be applied? Credit

standards refer to the minimum criteria for the extension of credit to a customer.

Credit ratings, credit references, average payment periods. and certain financial ratios
provide a quantitative basis for establishing and enforcing credit standards. The (irm's
decision, to accept or reject a customer, and to extend credit depends on credit

standards. Firms may have more number of standards in this respect, but at one point

it may decide not to extend credit to any customer, even though his/her credit rating 1s
strang. On the other point, firm may decide to provide goods on credit to all customers
irrespective of their credit creditworthiness. Practical ones lies between these two

points.

Adoption of liberal credit standards increases sales by attracting more customers, but
these credit standards increase bad debt loss, loss of opportunity cost and higher
collection costs. On the other hand, rigid credit standards, opposite effects. They
reduce sales, bad debt loss, suve opportunity cost due less investment in receivables.
When ever firms plans to go for new standards (generally liberalization of standards)
they have to determine the changes in net profit after taking into consideration all the
benefits and costs of the chunge of policy. If the change in net profit is positive, it is
better to go for new standards and vice versa.

Calculation of Change in Net Profit

Parliculars Amount (Rs.)
Increase in Sales XXXX

Less: Variable Cost XXX

Contribution XXX
Less: Bad debt loss on new sales XX
Earnings Before Tax (EBT) XXX
Less: Tax XX

Earnings After Tax (EAT) XXX
Less: Opportunity cost XX

Change in Net Profit Xxx

{1) Calculation of Bad Debt Loss on New Sales
Increase in Sales * Ratio of bed debt loss on salcs
Or
Bad Debt Loss with proposed credit period XXXX
Less: Bad Debi Loss with proposed credit period  X00(X
Bad Debt Loss on New Sales XXX

Receivables Managemeni

Lad
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(2) Opportunijty Cost = [ncrease in Investment " Cost of Capital

Increase in Invesiment = (Increase in Sales +365) x Average Collection-Period

* Ratio of Variable Cost to Sales
Or

= Cosrt of Sales +~ Receivables Ternover
Or

= Total Variable Cost of Annual Sales ~ Receivables Tumover

Receivable Tumover = 365 + Average Collection Period

Average Collection Period = (Trade Debtors x No. of Working Days)+Net

Credit Sales

Illustration 1:- Dream Well Company's present annual sales are Rs. 5.00,000, cost of
capital is |5 % and the company 1s in the 40% tax bracket. Company categorized its
customers into four categories, viz., C1, C2, C3 and C4 (C1 customer have the highest
credit standing and those in C4 have lowest ¢redit standing). At present, Contpany
has provided unlimited credit to categories C1 and C2, where as limited credit faeility
standing (rating) is
very low. Due to the present credit standards the company foregoing sales to the
extent of Rs. 50,000 to the customers in category C3 and Rs. 40,000 to the C4 category
customers. To attract for the foregoing sales to the C3 and C4 category customers,
company is considering to relax, credit standards, thus C3 customers would be provided
unlimited credit facility and C4 category would be provided limited credit facility. As
a result of relaxation in credit standards the sales are expected 1o increase by Rs.
ales. The estimated
contribution margin ration is 25 per cent and average collection period if 50 days.

to Category C3 and no credit to Category C4, since their credit

75,000 and it involves 12 per cent bad debt loss on increased s

Determine the change in net profit and suggest whether the company consider the

relaxation of credit standards or not,

Solution:

Calculation of Change in Net Prefit

Particulars Amount (Rs.}
Increased Sales 75,000
Less: Yariable Cost (Rs.75,000 x .75} 56,250
Contribution 18,750
Less: Bad debt loss on new sales 9,000
(Rs.75,000 % 0.12}
Earnings Before Tax (EBT) 9,750
Less: Tax at 40 % 3,900
Earnings After Tax (EAT) 5,850
Less: QOpportunity cost (See Note) 1,156
Increase in Net Profit 4,694

Note: Calculation of Opportunity Cost: Increase in Investment x Cost of Capital

Increase in Sales =Avg. Collection Period » Ratio of Variable Cost to
(75,000 + 365) 50 = 0.75 % 0.15 =Rs. 1,156

Sales = Cost of Capital
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Monitoring Accounts Receivables

Just evaluation of individual accounts does not help in efficient accounts receivables
management without continuous menitoring and control of receivables. In other words
success of vollection effort depends on mpimonitoring and controlling receivables.
Then how to monitor and control receivables? There are traditional techniques available
for monitoring accounts receivables. They are (a) Receivables tumover, (b) Average
Collection period, (c) Aging Schedule and (d) Collection matrix.

Receivables Turnover

Receivables turnover provides relationship between credit sales and debtors
{receivables) of a firm. It indicates how quickly receivables or debtors are converted
into cash. Ramamurthy observes "collection of debtors is the concluding stage for
process of sales transaction”. The liquidity of receivables is therefore, is measured
through the receivables (debtors) umover rate.

Debtors or Receivables Tumover Raie = Credit Sales +Average Debtors or receivables

Debtors turmover rate is expressed in terms of times. Analyst may not be able to
access credit sales information, average debtors and bills receivables.

To avoid of non-availability of the above information and to evaluate receivables turmover
there is another method available for analyst.

Debtors or Receivables Tumover Rate = Total Net Sales + Average Debtors (including
receivables)

Average Collection Period (ACP)

Turnover rate converted into average collection period is a significant measure of the
collection activities of debtors. Average collection period is a measure of how long it
takes from the time sales is made to the time to cash is collected from the customers.

ACP = 365 + Debtors or Receivables umover,

Hlusiration 6; A company's credit sales are Rs. 20 lakhs in a year. The opening
debts are Rs. 2 lakhs and closing debtors are Rs. 2,10,000 Determine Debtors rurmover
and ACP.

Solution:

Debters Tumover Ratio = Rs. 20,00,000 - (Rs. 2,00,000+Rs, 2,10,000)/ 2 = 9.75
times

ACP =365 =96.75=37.43 Days

Aging Schedule

As we have seen in the above average collection period measures quality of receivables
in an aggregate manner, which is the limitation of ACP. This can be overcome by
preparing aging schedule. Aging schedule is a statement that shows age wise grouping
of debtors. In other words, it breaks down debtors according to the length of time for
which they have been outstanding. A hypothetical aging schedule is as follows:
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Limitations of EOQ

Apart from the above application it has its own limitations that are mainly due to the
restrictive nature of the assumptions on which it is based.

® Constant Usage: This may not be possible to predict, if usage varies
unpredictably, as it often does, no formula will work well.

e  Faulty Basiv Information: Ordering and carrying costs is the base for EOQ
calculation. It assumes that ordering cost is constant per order is fixed, but
actually varies from commuodity to commodity. Carrying cost also can vary with
the company's opportunity cost of capital.

o  Costly Calculations: In many cases, the cost estimation, cost of possession and
acquisition and calculating EQQ exceeds the savings made by buying that
guantity.

Order Point Problem

-After determination of EOQ, then at what level should the order he placed? If the

inventory level ts too high, it will be unnecessary blocks the capital, and if the level is
too low, it will disturb the production by frequent stock out and also involves high
ordering cost. Hence, an efficient management of inventory needs to maintain optimum
inventory level, where there 1s no stock out and the costs are minimum, The different
stock levels are (a) Minimum level, (h) Reorder level, (¢} Maximum level, (d) Average
stock level, and (e) Dangers level.

(a) Minimum Level: Minimum stock is that level that must be maintained always
production will be disturbed, if it is less than the minimum level. How to fix
minimum leve]l? While determination of minimum stock level, lead time,
consumption rate, the material nature must be considered.

%+  Lead-time is the time taken to receive the delivery after placing orders
with the supplier. In other words, the number of days required to receive
the inventory from the date of placing order. Lead time also called as
procurement time of inventory.

%+  The average quantity of raw materials consumed daily. The consumption
rate is calculated based on the past experience and production plan.

% Requirement of materials for normal or regular production or special order
production. 1f the material is required for special order production, then the
minimum stock level need not maintain.

Formula for calculation Minimum Stack Level

Minimum stock level = Re-order level — [Normal Usage » Average delivery
time]

(b) Reordering Level: Reorder level is that level of inventory at in weeks, which
an order should be placed for replenishing the current stock of inventory. Generally,
the reorder level lies between minimum stock level and maximum stock level.
Re-order point = Lead time (in days) x Average Daily usage

The above formula is based on the assumption that (a) Consistent daily usage,
and (b) Fixed lead-time,
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MANAGEMENT OF PROFITS/
DIVIDEND POLICY

LEARNING OBJECTIVES

1. Explain the meaning of dividend policy of management of profits.

2. Discuss the different types of dividend policies, advantages and limitations of
stable dividend policy.

3. Understand the factors that influence a {irm's dividend policy.
4, Explain the fonms of dividend payment.

5, Understand what ts stock dividend,

Meaning and Definition

From the point of view of dividend decision it is betier to call management of profits

as management of earnings. Earnings mcan net earnings available to equity
shareholders from where a firm actually declares dividends or retain profits for financing
of investment opportunities.

Net eamings = Operating Profit - {Interest + Tax + Preferencc Dividend)

Meaning of Management of Earnings

Management of earnings means, how the earnings of a firm are determined and how
they are utilised or appropriated or allocated or distributed. In other words, how the
business firm apportions their earnings is between dividends and retentions for financing
of investment opportunities. Retention of earnings’s also known as plough back of
profits. Management of earnings is an important finance activity of a business
undertaking. Since proper management of eamings helps to maximise shareholder’s
wealth. Particular]y in Joint Stock companies where owners are different from the
management team, who are selected / appointed by owners. Usually management
team or Board of Directors {BOD's) do not distribute the total net camnings to the
shareholders as dividends. They may retain a pan of it for financing of investment
opportunities or expansion programmes by keeping future growth of the firm in mind.
Management of camnings policy must maximise value of the firm, thereby maximise
benefits 1o its owners. On the other hand improper relained eamings and absence of
financial control measures arc the indicators of ineflicient management of eamnings
that may nol help to maximise value of the firm, but they may lead to the liquidation of
the company.

Dividend Policy

As we have seen in the above, management of earnings means alloeation of earnings
among dividends and plough of profits. The term 'dividend’ refers to that portion of





















Walters models is based on the following assumptions:

)
2)
3)
4)
5)

The firm finances its entire investments by means of retained eaming only.
Internal rate or retum (R) and cost of capital (K) of the firm remains constant.
The firms eaming are either distributed as dividend or reinvested internally.
Beginning earnings and dividends of the firm will never change.

The firm has a very long or infinite life.

_D+r/k(E-Dj
N K

P

P= Market price per share.
D= Dividend per share

E=  Eaming per share

K= Interest rate per capital

Cost of capital.

~
h

According to the theory, the optimum dividend policy depends on the relationship
between the firm's internal rate of retumn and cost of capital. If R>K , the firms
should retain the entire eamings.

Walter's view on optimum dividend payout ratio can be summmarized as below:

a)

b)

c)

Growth Firms (R>K): The firms having R>K may be referred to as growth
opportunities. These firms naturally can earn a return which is more than what
shareholders could eamn on their own. So optimum payout ratio for growth firm
1s 0%.

Normal Firms (R = K): 1f R is equal to K the firm is known as normal firm.
These firms eamn a rate of return which is equal to that of shareholders in this
case dividend policy will not have any influence on the price per share. Sothere
is nothing like optimum payout ratio for a normal firm. All the payout ratios are
optimum.,

Declining Firms (R<K): If the company eams a retumm which is less than,
what the shareholders can earn on their investments, it is known as declining
firm. Here it should not make any sense to retain the eamings. So entire
eamings optimum payout ratio for a declining firms is 100%.

So according to walter the optimum payout ratio is either 0% (when R>K) or 100%
{(when R<K).

Criticisms

Walter's model based on certain assumptions, which are true for walter but not true in
the real world. The following are the limitations of the Walter's model.

1)

Walter assumes that there is no external financing. When R>K , the firm must
issue additional secunty and finance its profilable investments, if the company

uses only retained eamings, all the profitable investments cannot be undertaken.

So the investment decision of the firm will be sub-optimum.

Management of Profits/
Dividend Policy
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Therefore, when R>K, price share will be maximum at 0% payout ratio. Price per
share decreases as and when payout ratio is increased.

I1 when R<K (10%<12%)
At 0% payout ratio

Pe 0+0.10/0.12(8-0)
0.12

= Rs. 55.55
At 25% payout ratio

p_ 2+010/0.12(8-2)
0.12

=Rs. 58.33
At 50% payout ratio

p_ 4+0.10/012(8-4)
0.12

=Rs. 61.11
At 75% payout ratio

p_ 6+0.10/0.12(8-6)
0.12

= Rs. 63.88
At 100% payout ratio

p_ 8+0.10/0.12(8-8)
0.12

= Rs. 60.66

Therefore, when R<K, price per will be maximum at 100% payout ratio. Price per
share increases as and when the payout ratio is increased.

111 when R=K (12%=12%)
At 0% payout ratio

_ 0+0.12/0.12(8-0)
- 0.12

= Rs. 66.66

At 25% payoult ratio

P

_2+0.12/0.12(8-2)
0.12

= Rs. 66.66
At 50% payout ratio

P

P 4+0.12/0.12(8-4)
0.12

= Rs. 66.66

Management of Profits
Dividerd Policy
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At 75% payoul ratio
P= 6+0.12/0.12(8-6)
0.12
= Rs. 66.66
At 100% payout ratio
_8+0.12/0.12(8-8)
0.12
= Rs. 66.66

P

Therefore, when R=K, price per share remains the same at all payout ratios. So,
there is no one-payout ratio, which is optimum,

Gordon's Model

Another theory, which contents that dividends are relevant, is the Gordon's model.
This model which opinces that dividend policy of a firrn affects its value is based on the

following

Assumptions:

a) The firm is an all equity firm (no debt).

b)  There is no outside financing and all investments are financed exclusively by
retained eamnings.

¢) Internal rate of return (R ) of the firm remains constant.

d) Costof capital (K ) of the firm also remains same regardless of the changes in
the risk complexion of the firm.

¢} The firm derives its eamings in perpetuity.

f)  The retention ratio {(b) once decided upon is constant. Thus, the growth rate {g)
is also constant (g=b ).

g Kog.

h} A corporate tax does not exist.

Gordon used the following formula to find out price per share

p=E il( (1: b?)

P = price per share

K = cost of capital

E, = eamnings per share
b = retention ratio

{1-b) = payout ratio

g = b, growth rate. (r = intemal rate of return)

According to Gordon, when R>K, the price per share increases as the dividend payout
ratio decreases.

When R<K the price per share increases as the dividend payout ratio increases.

t48
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13.
14.
15,

16.

17.

Management of Profits/

T
What s scrip dividend? Dividend Policy

What do you understand by Bond dividend?

W hat is stable dividend policy? Discuss the different forms of stable dividend
policy.
List the advantages and disadvantages of stock dividend.

‘Payment of dividend involves legal considerations’ - Discuss.

‘Stock dividends are unfair to those stockholders who desire cash income',
comment.

Briefly discuss the different types of dividend policies.
Explain the factors that influence the dividend policy of a company.

Briefly discuss the legal and procedural aspects of dividends according to
company's law,

Wnite short notes on:

(a) Stock dividend,

(b) Stable dividend policy

(c} Properny dividend.

Distinguish between Scrip dividend and Bond dividend.
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